2024x

=35

Izl KR = AIEE o= +12E E[d=
1 2
WREE » .
HRER HREE = 1.2FREFH 2R #UEO : 00EE o=y
15KSEME 15KSERE el 14: 00SIES  14:002R%A =8 =50 LK) 72
13:00S 13:008 Kk LSD (90) #3 +10G 1K
4 5 6 7 8 9 10
# : 810G # : 10K&EHJ0G # : 10K&HE Bl : 7Kv-up + iR tFiiﬂ-:llsqg(%S@:% 8:3;;“?:% 10:00F#
&% i+ ZEIOG  F4% : 15KEE4'00" &Fi% : LSD &% : R+ 300G o = EREAHE
1Kx 8~10 3Kx 8
11 12 13 14 15 16 17
. _ . ' o
% : 10KSEE % : 10KS%H ¥ : 7000mv-up #3006 SEEEEH exEEmEss
#Fi% : FREE 1% W+ 10KER 1% : 15:00KA1F Fi% : 15:00FK 14:00/KBIF 5000m FREE
’ ’ 300mx 7 + fi#ind 15KEH UK
18 19 20 21 22 23 24
#8: 10KSEE] % : 10KEH] #5508 L SeTaT BT EERGRAE oo
14:303ZELWL 14:303ZMLL 9:007KAlF i+ A+ B EI0G 8 : £EJOG AEABFRBRS FREE
108 108 1000mx 3 ' fF4% 1 14:00SHIR 3000m
25 26 27 28 29 30 31
9:003ZHLL 9:003ZH L HFFHESE (ME-AR)
108 108 S0 : 1.A20000M
XE
BE-ma
K= ke
FREE e = PRI

Bk =ia



